«Ïðîèçâîäíàÿ» Âàðèàíò 1


1. Íàéäèòå ïðîèçâîäíóþ


à) ó = õ2sin5õ;


á) ó = õ2 �EMBED Equation.DSMT4���;


â) ó = �EMBED Equation.DSMT4���;


ã) ó = ñtg43õ;


ä) ó = �EMBED Equation.DSMT4���;


å) ó = ñîs�EMBED Equation.DSMT4���;


æ) ó = arcñtg�EMBED Equation.DSMT4���;


ç) ó = �EMBED Equation.DSMT4���.


2. Íàéäèòå ï-þ ïðîèçâîäíóþ â òî÷êå õ = 0


à) f(õ) = õ2 – 6�EMBED Equation.DSMT4���,  ï = 2.


á) f(õ) = 3cos2x – 125sin�EMBED Equation.DSMT4��� + 3õ4,  ï = 5.


â) f(õ) = �EMBED Equation.DSMT4���– �EMBED Equation.DSMT4���; ï = 4.


3. Ïóñòü ó = (3õ – 1)10 ( (2õ + 5)7. 


Ðåøèòå íåðàâåíñòâî: 


à) ó( > 0;  á) ó( ( 0;    â) ó(< 0;    ã) ó( ( 0.


4. Âûÿñíèòå, èìååò ëè ôóíêöèÿ ó = | 2õ – 1 | ïðîèçâîäíóþ â òî÷êå õ0 = 0,5.





«Ïðîèçâîäíàÿ» Âàðèàíò 2


1. Íàéäèòå ïðîèçâîäíóþ


à) ó = õ3sin4õ;


á) ó = õ4 �EMBED Equation.DSMT4���;


â) ó = �EMBED Equation.DSMT4���;


ã) ó = tg52õ;


ä) ó = �EMBED Equation.DSMT4���;


å) ó = sin�EMBED Equation.DSMT4���;


æ) ó = arctg�EMBED Equation.DSMT4���;


ç) ó = �EMBED Equation.DSMT4���.


2. Íàéäèòå ï-þ ïðîèçâîäíóþ â òî÷êå õ = 0


à) f(õ) = õ3 + 4�EMBED Equation.DSMT4���, ï = 2.


á) f(õ) = 81sin�EMBED Equation.DSMT4��� + 2õ6 – 2cos3x , ï = 5.


â) f(õ) = �EMBED Equation.DSMT4���– �EMBED Equation.DSMT4���; ï = 4.


3. Ïóñòü ó = (7õ + 1)10 ( (2õ – 9)7. 


Ðåøèòå íåðàâåíñòâî: 


à) ó( > 0;    á) ó( ( 0;    â) ó(< 0;    ã) ó( ( 0.


4. Âûÿñíèòå, èìååò ëè ôóíêöèÿ ó = | õ + 2 | ïðîèçâîäíóþ â òî÷êå õ0 = -2.





